HEME FR &) EEX 202458898 (%)
FERBORTHRESE
NE: BR EiE-hiE-RIE CHBEBRRUHAEERELEESD)

mBI—F &% FTEEH ESEER HEESke) [HEYFRESe) [HAREEIEEke) [(BESH B [HtYNRSISE | YRS HE | YRGS RE [HAREREISE [AxERE|FE [R5 =RIE

1101 [ K48 EE 75 750 0 750 10 0 0 0 1188 0 756

EE 30 450 0 450 15 0 0 0 0 864 0
GH 105 1200 0 1200

1N13|AEEAS [dtiEE 130 1300 0 1300 10 0 0 0 0 972 0
GH 130 1300 0 1300
112145 (&) 3 30 0 30

1141[3&4R S 40 80 0 80 2 0 0 0 1944 0 1296

me 10 50 0 50 5 0 0 0 972 0 648
GH 50 130 0 130

1201[83% f=154 130 1950 0 1950 15 0 0 0 2,592 0 1404
GH 130 1950 0 1950

1203 X v~y |BE 130 1,300 0 1,300 10 0 0 0 1404 0 1296

HE 80 1200 0 1200 15 0 0 0 1166 0 1145

f=154 71 710 0 710 10 0 0 0 1,350 0 1,134
(&) 281 3210 0 3210
1207[E# GD 440 44 44 0

1209[A % B 5 15 0 15 3 0 0 0 1,458 0 1,404
G 10 30 0 30

1301[#F EE 2 10 10 0 5 0 432 0 0 0 0

=B 10 50 0 50 5 0 0 0 3,348 0 2916

=) 20 6 0 6 0.3 0 0 0 0 194 0

me 100 50 0 50 0.5 0 0 0 216 0 194

mE 23 92 0 92 4 0 0 0 2376 0 1944

me 60 300 0 300 5 0 0 0 2916 0 2,052

(=) 21 126 0 126 6 0 0 0 1296 0 518
G 238 642 10 632

1311[F=<k Iy B 60 240 0 240 4 0 0 0 2052 0 1728
G 98 281 0 281

1321|841 dbiEE 380 1900 0 1900 5 0 0 0 2592 0 1944

ZIE 34 170 0 170 5 0 0 0 2808 0 1620
(&) 414 2070 0 2070

1351|[E—<> |[EE 360 54 0 54 0.15 0 0 0 0 108 0
(&) 390 59 0 59

1355|495 BRE 240 24 0 24 0.1 0 0 0 0 86 0
(&) 430 43 0 43

1371[L1Y x5 40 120 0 120 3 0 0 0 1,404 0 1,242
(&) 42 126 6 120
1411 [BE GH 80 32 32 0

1513[A—H94> |dtiEE 545 5450 0 5450 10 0 0 0 3672 0 1944
GH 545 5450 0 5450

1521|B3F =i 3 15 0 15 5 0 0 0 0 3240 0
GH 3 15 0 15

1541|E& EE 160 1600 0 1600 10 0 0 0 1944 0 1188
GH 160 1600 0 1600

1603[t)L)— | R% 5 50 0 50 10 0 0 0 4,320 0 3,564
GH 5 50 0 50

1609|7Aval) |dtiEE 30 240 0 240 8 0 0 0 3,888 0 3,370
GD 30 240 0 240
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mEI—F &% FTEEH e EL [HEEE(ke) [BYTEE ke) [HARIG EEke) [EEEH | [HVYRSISE [ YERGIPE [ YRGIRE [RG5S E [#8xERE] h{E [R5 RIE
1611[LAR E& 10 50 0 50 5 0 0 0 1836 0 1080
ft54 30 300 0 300 10 0 0 0 0 1080 0
GH 40 350 0 350
1612 7 =L 32X |[EF 30 150 0 150 5 0 0 0 1728 0 972
GH 30 150 0 150
1627|E=F<F |dtBE 90 270 0 270 3 0 0 0 2808 0 2052
GH 150 282 0 282
1705| Lt £ = =5 990 79 0 79 0.08 0 0 0 70 0 56
= E 90 9 0 9 0.1 0 0 0 0 67 0
= 3 12 0 12 4 0 0 0 0 3456 0
GH 1,083 100 0 100
1803 | HEE (&) 760 82 0 82
1807 [#2H &% 600 120 0 120 0.2 0 0 0 0 54 0
G 600 120 0 120
1809[L&HL % 200 20 0 20 0.1 0 0 0 0 35 0
G 200 20 0 20
* S FEET * 11284 38918 102 38816
2101 [\HREH G 656 262 0 262
2303[FE K (&) 13 130 0 130
2331 | —+HiE [BER 1 5 0 5 5 0 0 0 0 5508 0
(&) 1 5 0 5
25118k EH 54 270 0 270 5 0 0 0 4968 0 3672
(&) 89 445 0 445
2541|F f=154 42 29 0 29 0.7 0 0 0 464 0 443
(&) 42 29 0 29
2601|7527 [l 50 17 0 17 0.33 0 0 0 0 389 0
(&) 50 17 0 17
2607[R)—A [EE 5 10 0 10 2 0 0 0 0 1,944 0
(&) 5 10 0 10
2609 | B & 12 16 6 0 6 0.35 0 0 0 0 691 0
(&) 16 6 0 6
2601 |EA—% [ILE! 120 48 0 48 0.4 0 0 0 0 162 0
e 111 2 4 0 4 2 0 0 0 0 4644 0
GH 122 52 0 52
2616[{STRAAL  [ILF! 60 30 0 30 05 0 0 0 1728 0 1080
[ITE] 4 3 0 3 0.8 0 0 0 0 2592 0
e 111 40 80 0 80 2 0 0 0 5400 0 3240
e L 13 65 0 65 5 0 0 0 16200 0 11880
(&) 117 178 0 178
2701[7—JLR &M 1 9 0 9 9 0 0 0 0 14040 0
(&) 1 9 0 9
2721[AA> GH 15 75 0 75
2731 [ i 103 1545 0 1545 15 0 0 0 6048 0 3348
E% 12 180 0 180 15 0 0 0 6372 0 3672
(Gt 145 2175 0 2175
2821 [EER EE 744 372 0 372 0.5 0 0 0 486 0 432
(Fh) 744 372 0 372
* S FEEt * 3283 6438 0 6438

2/2R=Y



